# AR R

Ok LT, MR e LT MR - TER - 7V —=2 78 - 2P ARE, )

A
(s 147] FERIZH AR RIBLEEN: ( 4458 )
FHE SHEEAFE( BFHI1F )
— ?‘é‘ﬁﬂ%%ﬁzomé}i _ =
- ] =) -1IRE(ZHI =
s He R N - %‘%I*—I'%jé bﬁ'f *EI?\#' 3‘3"'6 §5l
HEER
EiE 82 82
G- 41 41
P 82 82
HE 82 82
BE 26 26
el 15 15
| REEE 151.7 151.7
an oS 165.85 155.6 10.25
REE 82 82
(S EER)
(&R 30.75 30.75
EMHEEX) 92.25 92.25
FMHE(TE) 184.5 1845
FMHE (KB 92.25 92.25
Y5 RIEED 94.3 94.3
B EEH 41 41
HRlDHE EE 16.4 16.4
REMIEZE DO EFRT 41 41
&t 1320 1279 41 0 0 0

XBRAEEERE., EXRSFIBTHEE2BMEECERIBETAIUN,

R=Rrava =
FFED 2 AR FRICHAERT RBEAR: ( 4458 )
FHRE SHSEEAZE( SEM2EEEE )
S ?Eﬁﬂ%i&zwmﬁbﬁ
wRE Fe MR I - %‘ﬂﬂ-%é =) bﬁf_;ﬂ%[»aﬁ("'éﬂﬁﬁ
EEER
|EEE 39 39
#He 39 39
e 39 39
HE
= 24 24
E(01 15 15
| REAXE 144.3 144.3
B e 222.15 212.4 9.75
REE 78 78
(S EEE
([E#R) 29.25 29.25
EMHE(EE) 507 507
EMKE(TE)
EREE (R
YHALES 89.7 89.7
BiLEEH 39 39
HAlDHE B 15.6 15.6
BEWTIER DR 39 39
&t 1320 1281 39 0 0 0

KEFRSZICETHEESEMETC (REIBETHVUN,




[&5 347 U —=TF]

ERICBTLARETFERFBH: ( 428 )

FHRE SHAFEAZE( EEHIFY)—=208 )
- BEBBORR
g HesEpE R %’%&*‘I’%E %bﬁf:*ﬁg(:ﬁl-}-éﬂ&ﬁ
BHE BERICHITHIEE .
4EIER
EEE 72 72
e 36 36
potal 72 72
IHE 0 0
= 21 21
EJ01 15 15
Y REEEE 1332 1332
an e 246.6 237.6 9
REE 72 72
(S EEE
(E#HR) 27 27
EMKE(EE)
FEMHE(TE) 198 198
FEMHEE (RBO 198 198
HFREE 82.8 82.8
BHILEE 36 36
BRADHE EE 14.4 14.4
HRENMGIFERORME 36 36
it 1260 1224 36 0 0 0

XEERSECHTI2ETEMEZEC (EBRBETHIIVL.,




